
( Unfurqhn pu[u.rph ]nluur4npnlp1nltr D <nUq

(uruuruurnrrJ brl

<Updru{ftp purnurp|

<nUq-h urtropbtr

2018p. qhnultrbpfr rqturhh rfrnrfrnfunrplnrtr

9trtlutr urnup! rulfr rutrL[uL nLdp

Ubr{ulnLdp

d

d

5
at

; ->

-:3<

2 4 5 6 7

oku un {[rp u urnr-<. Upriur {[r p pru 4rupfr lnru ru rlnpn tp1 nrfu ,(fl Ug

rudhL N 6 untdpN4 I.IuuNl

r.tuu 1 u4tnuueLbn
3983000( Shut huut Q u h Uq nu hptt hn
3153171( II,IIS ludq|4pnut1 ttz hunn 5200 94 488,8
3152138( aLUS t1t\urpru\urh lunlq 250 rlur sz hruu 2000 94 188,0
3153168( ]LUS 1uilqJr rft\burp!}t2 s2 hurur r300 94 122,2
31s31 l0( k1t\upur\urtr lurlq 250 rlrn o'2 huru 1400 180 252,0
3153130( I.uilq th4 (utnntunrl lunlqhp) sz hurur 3s00 80 290,0

31,32129C t1h\upur\urtr lurp U'TI{ 1-16dil s2 .fh*F 90 1850 166,5
3132126t dk\urpu\urh lurp UA.{ 2.2,5ilil sz tfhurp 90 30 2,7
3t22tt6( trurilurtrulfir nhlt

sz huln 10000 9 90,0
3165140( Ut\nrulrl durqurr{ttr qz huru 1s0 20 3,0

3168114C h1t\upur\urtr purqur+I{r1Ltp (qhptlunatrlr\)
sz huru 500 80 40,0

1814110( U2luurururtrpurl]rh d.tntmghhp sz qNLJq 500 37 18,5

3L5L236C LnruurpAur!trhp sz huru 19000 15 285,O

3121118C lftlrnntlurur ruh2ururfrl sz hunn 5000 L 5r0

3722LL9A Onaup\[2 32 A (qnr-u\urut1] qt
hunn s300 I 5,3

44LLL446 f,t\ntulrltrtp {hqntrunnnn)
qz

hurur 600 30 18,0

44s30000 [.nruurunr-]r ullpurgrlurtr 4hrnurl
q2

hurur 7000 10 70,0


